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ےےبرائ ے ےنوٹسےکان  ےےےسلائیسنوقتےاسےےکرئ ےےےاورےاستعمالےمہربانی -ےکاےخیالےرکھی   

 

Q.1 One angle of parallelogram is 130 . Find the measures of its 

remaining angles.  

 

Solution:  In a parallelogram , 130ABCD m B =  

  m B m D =    (Opposite angles of parallelogram) 

  130m B m D =  =  

 We know that    

180m A m B +  =  

130 180m A + =  

180 130m A = −  

50m A =  

 Also we have  m A m C =   (Opposite angles of parallelogram) 

       50m C  =  
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Q.2 One exterior angle formed on producing one side of a 

parallelogram is 40 . Find the measures of its interior angles. 

 

Solution: Given In a parallelogram , 40ABCD m DAM =  

To find:  ?, ?, ?, ?m B m DAB m C m D =  =  =  =  

  180m DAM m DAB +  =  

            40 180m DAB+  =  

          180 40m DAB = −  

          140m DAB =  

          180m DAB m B +  =  

     140 180m B+  =  

    180 140m B = −  

    40m B =  

   40m B m D =  =  

     40m D  =  

    m C m DAB =   

    140m C =  
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